15938C

VOLANT COOL AIR INTAKES
PART NO.:
INSTALLATION INSTRUCTIONS
WWW.VOLANT.COM

TECH SUPPORT: (909> 481-3888

15958C

PARTS LIST

VOLANT AIR DUCT

1

1/2" RUBBER GROMMET

VOLAN OPEN LID BOX

1

6 1/2” BRACKET

—

RAM FILTERS W/CLAMPS

1

2’ L BRACKET

#056 CLAMP

374 X 44" TRIM W/SPONGE

1/4"-20 BLACK BOLTS

1/4" LCOK WASHERS

AV LV LV

1/4" WASHERS

VOLANT OPEN
LID BOX

RADIATOR

374" X 44" TRIM

MOLDING W/SPONGE

NOTE:
BACK SECTION OF
THE OPEN LID BOX
IS SUPPORTED BY
THE RADIATOR

THE BOTTOM

SIDE VIEW

i

1/4*-20 BOLT
LOCK WASHER
WASHER

174

174"

FRONT

MASS FLOW
SENSOR

1/2" RUBBER GROMMET
FOR AIR TEMP SENSOR

FILTER CLAMP

O =
VOLANT OPEN
LID BOX
NOTE: INSERT MASS
FLOW SENSOR IN
VOLANT DUAL AIR
ucT
—
v OO ]  #056 CLAMPS
e
14
m
4 VOLANT AIR DUCT
&
[ nnp

RAM FILTER

374" X 44* TRIM
MOLDING W/SPONGE

[0'4
o
o
<C
@ | 5
o= VOLANT OPEN <
STOCK 6 1/2° LID BOX
BOLT  BRACKET
SIDE VIEW

1/4*-20 BOLT

1/4" LOCK WASHER
1/4" WASHER

6 1/2" BRACKET



